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} else if ((Pa’<=c && c<=’z’) ||
(PA’<=c && c<="2")) {
character[i]=c;
i++;
while(c = *ptr++){
if ((Ca’<=c && c<=’z’) ||
(PA’<=c && c<=Z2")) {
character[i++] = c;



}
else{
character[i++] =’\0’;

break;

s=0;

strcpy(datal0] [s],character);
value = s;

c && ptr--;

last_token = ’v’;

return last_token;

(s-token.c0 O OO DOODO)
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mouse—=12
double=2*5
click=3+3

OO000Os-tokencOODOOOOO0OOOOODOODOODOOOO

(0000000000)

[j04001@pw009 ~/examples]’, make test
./s-intel-r < s-input.txt > s-output.s

syntax error on ouse=12
syntax error on ouble=2%b
syntax error on 1lick=3+3
syntax error on

syntax error on

gcc s—output.s

./a.out
[j04001@pw009 ~/examples]’

(Cooboobooog)



(0oooo0oOooo0)

[j04001@pw009 ~/unix2]}% make test
./s-intel-r < s-input.txt > s-output.s
gcc s-output.s

./a.out

= 12

= 10

=6



